
I Before You Begin I 
Check to make sure you have the following: 

@A ► @)B 扣
(2) SCREW ST4.2 x 16 mm (6) BOLT M6 x 15 mm

@c 炉
(4) BOLT M6 x 25 mm 

@)o 仰
(4) BOLT M6 x40 mm 

@E@ @)F 

(14) WASHER d6.5 x D13 x 1.0 (1) LAVA ROCKS 

@GO-
(4) BOLT M6 x 10 mm 

!Tools ' 

勹
; ........................................ : 

I WARNING I 
• Use the correct bolts as indicated. Do not tighten any of the bolts until 

the table is completely assembled.
• Do not sit or stand on this table. 
• Do not discard of any of the packaging until you have checked that you

have all of the parts and fittings required.
• Keep children away during assembly. This item contains small parts

that can be swallowed by children.
• Children should always be under direct adult supervision while using

this product.
• Retain these assembly instructions for future reference.

I Part Identity I 
@)COVER 

(DREAR 
FRAME 

(J)TABLE 
TOP 

I 

@UPPER 

@FRAME B 

CONNECTOR @BOTTOM 
FRAME 

Preparation J 
• Remove all parts from packaging. Check your quantities

with chart to the left.
• Spread out all parts on a soft, level surface to avoid

scratching parts.
• Do not tighten nuts with wrench until assembly is 

complete. 

ATTENTION: THIS PRODUCT IS NOT FOR COMMERCIAL USE INTENDED FOR RESIDENTIAL USE ONLY. 









I Assembly Instructions I 

Step 4: 

Insert the upper connector into the holes of the front 

door. Fasten the upper connector to the frame B by 

using bolt (B) and washers (E). Completely tighten all 

of the nuts and bolts. Close the doors. See Figure 4 .  

Note: 

Shut the doors lightly. Do not slam the doors to close. 

FIGURE 5 

Step 5: 

Place the table top onto the frame assembly. Fasten them 

together by using bolts (B) and washers (E). Fasten the 

burning system to the table top by using bolts (G). Make 

sure that all of the bolts have been tightened completely. 

See Figure 5 .  

Note: 

The igniter valve should be facing towards the front 

left side of the appliance. 

FIGURE 6 

�
 ..
 
．
 

三
Step 6: 

Place the tiles onto the table top. See Figure 6 .  

FIGURE 7 

Step 7: 

Open the front door and place the tank into the bottom 

frame. Secure in place by using the plastic screw. 

See Figure 7. 

Note: 

Secure the tank in place by turning the plastic screw 

clockwise as illustrated above. 












